. VCE & PDF https://www.pass4itsure.com/c_tscm42_67.html|
g 2024 Latest passditsure C_TSCM42_67 PDF and VCE dumps Download

PassditSure.com

C_TSCM42 679%4¢

SAP Certified Application Associate - Production Planning &
Manufacturing with SAP ERP 6.0 EHP7

Pass SAP C_TSCM42 67 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c_tscm42_67.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

C_TSCM42_67 VCE Dumps | C_TSCM42_67 Study Guide | C_TSCM42_67 Exam Questions 1/3


https://www.pass4itsure.com/c_tscm42_67.html
https://www.pass4itsure.com/c_tscm42_67.html
https://www.pass4itsure.com/c_tscm42_67.html

. VCE & PDF https://www.pass4itsure.com/c_tscm42_67.html|
g 2024 Latest passditsure C_TSCM42_67 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which of the following statements is true for the ATP (available to promise) availability check in SAP ECC that is
triggered from a customer order?

A. The ATP check does not confirm against stocks and receipts, it checks consumption against planning requirements.
B. An availability check by means of ATP creates fixed links between customer orders and their confirmed receipts.

C. The ATP quantity is the quantity still available that can be used to confirm incoming customer orders.

D. If the ATP check establishes non-availability, it checks whether it is still possible to procure or produce in time.

Correct Answer: C

QUESTION 2

In the SAP ECC system, a material is produced using production orders. The planning table for repetitive manufacturing
should be used to plan line loading for this material. On the initial screen of the planning table, you select this material
and then receive a message informing you that you cannot use the planning table for this material (see attached
screenshot).

Planning Table Initial Screen: Change Mode

Z& Planning Table

F?@ Mo elements exist for the selection [ | MF50 PE| | t37tdc00 | INS /ﬁ:

What could be the reason?

A. There are no planned orders or production orders present.
B. The repetitive manufacturing indicator has been set.

C. There is no valid production version for this material.

D. There are no requirements present.

Correct Answer: C

QUESTION 3

Which repetitive manufacturing options can you use to carry out line loading in the SAP ECC system, and thus generate
run schedule quantities (RSQ) from normal planned orders? (Choose three)
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A. Automatic selection of the production line assigned to the MRP group used during material requirements planning
(MRP)

B. Automatic selection of the production version in material requirements planning (MRP) using the selection methods
setting

C. Automatic selection of the production version by applying quota arrangement records in material requirements
planning (MRP)

D. A planning algorithm from capacity planning
E. Manual assignment of planned production quantities in a planning table

Correct Answer: BCE

QUESTION 4

Which of the following features are offered by MRP areas in SAP ECC? (Choose two)
A. A storage location may be assigned to different MRP areas.

B. An MRP area may include different storage locations.

C. Make-to-order production is supported by storage location MRP areas.

D. Subcontracting is supported by MRP areas.

Correct Answer: BD

QUESTION 5

When modeling in-house production using SAP ECC, on which business levels can you create a bill of material (BOM)?
(Choose two)

A. At the company code level
B. At the plant level
C. At the business area level
D. At the client level

Correct Answer: BD
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